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Paper - I

Note :

This paper contains fifty (50) objective type questions. Each question carries

two (2) marks. All questions are compulsory.

1. In India which one of the following is the
real guiding factor for the state to meet
social needs and for the establishment
of new social order ?

(A) Fundamental rights

(B) Preamble

(C) Directive principles of State Policy
(D) Distribution of power

2. The idea of fundamental rights was
enshrined in
(A) Government of India Act, 1935
(B) Simon Commission
(C) Joint Parliamentary Committee
(D) Constitution of India

3. The Supreme Court has interpreted the
power of Judicial Review as a basic
feature of the Constitution. However,
there is a schedule to the constitution, in
which a statute is specified, it cannot be
questioned in a court of law on the ground
of violation of fundamental rights. Which
one of the following is that schedule ?

(A) 10™ Schedule (B) 11™ Schedule

(C) 9" Schedule (D) 12" Schedule
4. President of India can return the advise
of the Cabinet for reconsideration.
(A) Once only
(B) Thrice only
(C) Any number of time
(D) Alot even once

5. Distribution of subject matter of legislation
is based upon
(A) Canadian pattern
(B) American pattern
(C) English pattern

(D) Australian pattern

6. Which of the following statements
regarding 74" amendment of the
Constitution are correct ?

a) It provides for insertion of a new
schedule to the Constitution.

b) It re-structures the working of the
municipalities.

c) It provides for the reservation of
seats for women.

Codes :
(A) aonly (B) a,c
(C) a,b (D) a,b,c

7. Which of the following writs may be
issued for compelling a public authority
to perform a public duty ?

(A) Quo-Warranto
(B) Mandamus
(C) Certiorari

(D) Prohibition
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8. Match List | with List Il using the codes
given below :

List|
a) Retributive theory
b) Sociological theory
c) Theory of punishment
d) Theory of property

List I

i) Legal right
ii) Sources of law
iii) Punishment
iv) Roscoe pond
Codes :

i iv iii ii
iii iv ii [
iii ii [ iv
iv iii [ ii

~— N N N

A
B
C
D

AN AN~

9. Which of the following duties have
included by Austin in the category of
absolute duties ?

[) Duties owed to persons indefinitely
I) Self regarding duties

[Il) Duties owed to the sovereign

IV) Duties owed to the parents

Codes :
(A) I llland IV (B) II, llland IV
(C) Lland IV (D) I, land Il

10. Why is there an increasing recognition
that retribution is a fundamental element
of punishment ?

(A) Because re-habilitation of offender
presumes a recognition of the role
of regeance

(B) Because the lex talionis is
misguided

(C) Because other justifications
appears have failed

(D) Because revenge is anachronistic

Total Number of Pages : 16

11. Which of the following apparent
co-relatives contradicts Hohfelds scheme

of jural relations ?

(A) Right and duty

(B) Privilege and non-right

(C) Power and liability

(D) Immunity and disability
12. The term “Compossessio” means

(A) Tenant's possession

(B) Possession of Tenants-in-common
(C) Possession of co-owner
(D)

D) Possession of Tenant by holding out

13. Ownership of a goodwill of a business is
(A) Corporeal ownership
(B) Limited ownership
(C) Beneficial ownership
(D)

D) In-corporeal ownership

14. Assertion (A): Law can never be divorced
from history and other culture factors.

Reason (R) : Law has scarcely reached
the footing of custom it is rather a habit.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
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15. Who among the following is father of
International Law ?

(A) Grotius (B) Austin
(C) Bentham (D) Plato

16. Who said that there is only one source of
International Law namely common

consent ?
(A) Oppenheim (B) Starke
(C) Grotius (D) Bentham

17. Match List | with List Il and select the
correct answer by using the code :
Listl

a) Recognition only and exclusively
bestows a state with rights and
duties under international law

b) Itis a first step towards final
recognition

c) ltis a final recognition by a state

d) International personality of a state
only depend upon recognition

List Il

1) De-facto recognition

2) De-jure recognition

3) Declarative theory

4) Constitutional theory

Codes :

a b c d

(A) 4 1 2 3

(B) 4 3 2 1

(C) 3 1 4 2

(D) 3 1 2 4

18. Purposes and principles of W.N. are laid

down in

(A) Articles 2 and 3
(B) Articles 2 and 4
(C) Articles 1 and 2
(D) Articles 1 and 3

Total Number of Pages : 16

19. Assertion (A) : International law possess
the will of ruling class.

Reason (R) : No body is above the law.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
20. Which one of the following is a 3™
generation human right ?
(A) Right to work
(B) Right to education
(C) Right to freedom of religion
(D) Right to development

21. A marriage under Hindu Marriage
Act, 1955 between persons witness
Sapinda relations is

(A) Valid

(C) Void
22. Muta marriage is recognised by

(A) Hanafi school

(B) Maliki school

(C) Ithana Ashari school

(D) Hanasali school

(B) Voidable
(D) Irregular

23. Reading the following proposition and
give the correct answer :
[) Consent theory makes the divorce

very easy.

[I) Consent theory makes the divorce
very difficult.
Which of the following is correct with
respect to above said proposition ?

A) lis correct but Il is incorrect

B) land Il are correct

C) llis correct but I is incorrect

D) I and Il both are incorrect

(
(
(
(
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24. Under Hindu Law, which ground of
divorce is available only to female ?

(A) Repudiation of marriage

(B) Adultry

(C) Impotency

(D) Both (A) and (B)

25. Match List | with List Il and indicate
correct answer using the codes given
below :

List|
a) Ashok Hurra V. Rupa Hurra
b) Bipin Chandra V. Prabhavati
c)
d)

Sarla Mudugal V. Union of India
T. Sareetha V. State of A.P.

List Il
i) Restriction of conjugal rights
if) Uniform civil code
iii) Desertion

iv) Divorce by mutual consent

Codes :
a b c d
(A) [ ii iii iv
(B) iv iii i i
(C) i iii i iv
(D) iv iii i i

26. Divorce Act, 1869 is applicable to

Total Number of Pages : 16
27. A contract becomes impossible of
performance is

(A) The goods are not available in the
market

(B) Workers are on strike

(C) Subject matter of the contract was
distroyed at the time of contract

(D) Money is not available

28. Toconvert a proposal into a promise, the
acceptance must be

(A) Qualified
(B) Unqualified

(C) General

(D) Absolute and unqualified

29. In which of the following statement under
influence does not exist ?
(A) When dominating party holds real
or apparant authority
(B) When a persons mental capacity is
affected because of bodily distress
(C) When a person threatens another
to commit suicide
(D) When the party holds fiduciary
relationship

30. A party to the contract can be discharged
from performing it, if it has become

(A) Hindus (A) Expensive
(B) Muslims (B) Onerous
(C) Christians (C) Commercially unvoiable
(D) Parsis (D) Impossible
K-1814 (o) Paper I




31. TReRE SHOTRY, 2.0 5090,
ODRWEIRRYICD, &5 TRCR
I3 SNTLTOWD.

(A) TOTRIID

(B) 2092 w05m003 3T IR
(C)

(D)

C) TFm0TR STE FFRITZLY,

D) R&sod drew
32. FINT CINYTD LRTSTE, AOTERIT

GRETROI STRETITR 98 ?
i) BB RON 9T

i) ATT0 BLeONTY @5 8T [RTHWTY,
BRBMIRTD
) T0NT SWIBHY, THTED SRTYTD
V) 9,900 QWFOTRY, wBOT
) DT TRY WTET

)

Total Number of Pages : 16

34. TTEE 30301 B8OOI B3 PN
B30T BOOATWTIT.

i) «0z3ed? g x’éfﬁ%
ii) FYT IR BRTROTN
iii) VT LHTTE LRODY, T,
BRBLNTOZT
V) 008 BewBNY I3 00 1T
DodeSNned
(A) i, ii méj iv 80
(C) i, ii ﬁaé_,; iii @O
35. S0erdE durg BY (wog TY)
(A) T@ER TR J0FE 3 ANNRT S0
QerTgs
(B) 20T T 0T, LeRNTRTENTD,
f&d@pd& méa-’% @&i@é 2ERTIO.
(C) 2000 TTR) LePNTRTHINTT
TOFTTO MO RORT), fad%oda
ROBR), 2eF0T H&RTITT

(B) i, iii &3 iv 70
(D) ii, i, iv 30

Vi) %308 FART 10T
S gean (D) 2TR» B wercess (rds ) oD
RS ER0E AT
(A) i, ii, iii, iv, v
36. 3UOPLIT WHID DT, FNG
(B) iy il, iv b2 vi IR TS ST 2
(C) |7 “’ "I’ Vv, vi I) DN 3@?§mﬁda@d3 (m@m zoeed
(D) i ®%g, B ATOT)
i) ez BZ
33. BIIQ VTR IRFIHY, PRI ) SEOT
o “ iii) 0D et
(A) me=ng v) hedse H53 3R
(B) Zges wtng V) DTIVT QT
(C) w03 d)g\) wé 3 So2eane ‘
(D) 50%z003 302 Nod?j&-'ﬁ BRODBROT (A) i, ii, iii (B) ii, i, iv
S0edT 0IRRYTHTAR uodo (C) iii, iv, v (D) i, i, iii, iv
Paper I (10) K-1814




31. In order to render a contract void on the

ground of mistake, mistake may be of
(A) Of law

(B) Mixed fact and law
(C) Offact, not of law

(D) Mistake of perception

32. Which of the following is/are not a head
of public policy in India ?
i) Trading with an enemy
i) Trafficking in public offices
iii) Interference with administration of
justice
iv) Agreement in restraint of trade
v) Marriage brokerage contract

vi) Agreement creating an interest

Codes :

(A) i, i, iii, iv, v
(B) i, ii, iv and vi
(C) i, ii, iii, v, Vi
(D) ionly

33. Under vicarious liability, liability is
A) Joint only
B) Several only

(
(
(C) Joint and several
(
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34. For an action of nuisance, defendant can
put-up the following defence :
i) Places suitable for the purpose

ii) Itis for the benefit of the residence
of the locality

iii) Itis done under statutory authority

iv) Plaintiff has consented to the act of
the above statements

Codes :
(A) i, iiand iv are correct
(B) i, iii and iv are correct
(C) i, ii and iii are correct
(D) ii, i, iv are correct

35. In contributory negligence.

(A) Both parties have contributed to
negligence equality

(B) Only one party is negligent and
other has not taken due care

(C) One party is negligent resulting in
injury while the other has taken due
care

(D) When lack of care is equal on both
sides

36. Which of the following is a exception to
the role of strict liability ?

i) Plaintiff's on default
ii) Act of God

iii) Consent of plaintiff
iv) Act of third party

v) Statutory authority

_ Codes :
D) Any of the above depending upon (A) i, i, i (B) i, i, iv
facts and circumstances (C) iii, iv, v (D) i, ii, iii, iv
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37. The Maxim Ubi Jus ibi Remedian means
(A) To hurt anybody by word or deed

(B) Where there is a right there is a
remedy

(C) Infringement of legal right without
damage

(D) Infringement of right without any
legal consequences

38. Which of the following is not a valid
defence in Fort ?
(A) Valenti-non fit injuria
(B) Vis—major
(C) Sinenti non fit injuria
(D) Consent

39. Match List | with List Il and select the
correct answer by using the codes :
List|

a) Act of judge when acting judiciary
b)

c)

d) Act of a person of unsound mind

List Il

i) Sec. 80 of IPC

ii) Sec. 84 of IPC

)

iii) Sec. 77 of IPC
iv) Sec. 84 of IPC

Accident is doing a lawful act
Act of child under seven years of age

40.

41.

42.

43.
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In all robbery there is

(A) Only theft

(B) Only extortion

(C) Either theft or extortion
(D) Neither theft nor extortion

Because of grave and suddon provocation
of °Z', ‘A’ fires at ‘Z’, but ‘Z’ does not die.
A has committed the offence of
(A) Attempt to murder
(B) Culpable homicide not amounting
to murder
(C) Attempt to commit culpable
homicide
(D) Grievious hurt

The essential ingredients of crime are
(A) Motive, mense-rea and actus-reus

(

B)
(C) Actus-reus and mense-rea
(D)

‘A’ a school teacher with a view to
maintain discipline punishes an eleven
year old student with a simple
punishment.

Motive, intention and knowledge

Knowledge, intention and action

(A) A could take a defense under
sec. 89 IPC

(B) Ais guilty of simple hurt
(C) A could take the defence under

Codes : sec. 88 IPC
a b c d (D) A is guilty of using criminal force
(A) ! . - v 44. Protection of women from Domestic
(B) v i I ! Violence Act was enacted is
(C) i I v I (A) 2001 (B) 1995
(D) \ I Il I (C) 2005 (D) 2006
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45. Match List | with List Il and select the
correct by using the code given below :

List|
a) General prohibition of lockout
b) Prohibition of lockouts

c¢) Prohibition of financial aid to illegal
lockouts

d) lllegal lockouts

List Il
i) Sec.24 of I.D. Act
ii) Sec. 25 of .D. Act
iii) Sec. 22 of .D. Act
iv) Sec. 23 of I.D. Act

Codes :
a b c d
(A) [ ii iii iv
(B) iv iii ii i
(C) iii i iv ii
(D) iv i iii ii

46. Application for registration of Trade
Union shall be accompanied by copy of

(A) Name of the industry
(B) Address of the industry

(C) Name of trade union and address
of its head office

(D) Ages of the owners of the industry

47. Under Sec. 2(00) of Industrial Disputes
Act, 1947, the word ‘Retrenchment’, does
not includes

(A) Termination of service of workman

(B) Termination of service of workman
as punishment inflicted by way of
disciplinary action

(C) Voluntary retirement of workman

(D) Both (B) and (C)
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48. Look out is
(A) Antithesis of strike
(B) Anti strike
(C) Equal to strike

(D) Complementary to strike

49. “Closure” means

(A) Permanent closing down of place
of employment

(B) Temporary closing down of place of
employment

(C) Both (A) and (B)

(D) May be permanent or temporary
closing down of place of

employment

50. Appropriate Government may refer the

dispute for adjudication.

(A) When the dispute is in actual
existence

(B) When the dispute is apprehended
only

(C) When the dispute is either in
apprehended or inexistence

(D) Only when it is requested by the

parties
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